

FIRST FLOOR PLAN VILLA 40 X 60



GROUND FLOOR PLAN VILLA 40 X 60



VILLA 40 X 60



FIRST FLOOR PLAN VILLA 50 X 60



GROUND FLOOR PLAN VILLA 50 X 60



TERRACE FLOOR PLAN VILLA 50 X 60



FIRST FLOOR PLAN VILLA 50 X 80



GROUND FLOOR PLAN VILLA 50 X 80





FIRST FLOOR PLAN VILLA 60 X 70



GROUND FLOOR PLAN VILLA 60 X 70



TERRACE FLOOR PLAN VILLA 60 X 70



FIRST FLOOR PLAN VILL 60 X 80DH



GROUND FLOOR PLAN VILL 60 X 80DH



TERRACE FLOOR PLAN VILL 60 X 80DH



FIRST FLOOR PLAN VILLA 60 X 80



GROUND FLOOR PLAN VILLA 60 X 80



TERRACE FLOOR PLAN VILLA 60 X 80



GROUND FLOOR PLAN VILLA 40 X 60





GROUND FLOOR - 1559.00 SQFT

FIRST FLOOR - 1155.00 SQFT

- 136.00 SQFT TERRACE FLOOR

TOTAL AREA - 2850.00 SQFT

TOTAL BUILT UP AREA - 2850 SQFT

PLOT AREA (40 X 60) - 2400 SQFT



GROUND FLOOR PLAN VILLA 50 X 60





GROUND FLOOR - 1716.00 SQFT

FIRST FLOOR - 1510.00 SQFT

TERRACE FLOOR - 164.00 SQFT

TOTAL AREA - 3390.00 SQFT

TOTAL BUILT UP AREA - 3390 SQFT

PLOT AREA (50 X 60) - 3000 SQFT



FIRST FLOOR PLAN VILLA 50 X 80



GROUND FLOOR - 2135.00 SQFT

FIRST FLOOR - 1830.00 SQFT

TERRACE FLOOR - 135.00 SQFT

TOTAL AREA - 4100.00 SQFT

TOTAL BUILT UP AREA - 4100 SQFT

PLOT AREA (50 X 80) - 4000 SQFT







GROUND FLOOR - 2194.00 SQFT

AREA STATEMENT

FIRST FLOOR - 1678.00 SQFT

TERRACE FLOOR - 183.00 SQFT

TOTAL AREA - 4055.00 SQFT

TOTAL BUILT UP AREA - 4055 SQFT

PLOT AREA (60 X 70) - 4200 SQFT



GROUND FLOOR PLAN VILL 60 X 80DH



FIRST FLOOR PLAN VILL 60 X 80DH



TERRACE FLOOR PLAN VILL 60 X 80DH

GROUND FLOOR - 2630.00 SQFT

FIRST FLOOR - 1935.00 SQFT

TERRACE FLOOR - 205.00 SQFT

TOTAL AREA - 4770.00 SQFT

TOTAL BUILT UP AREA - 4770 SQFT

PLOT AREA [60 x 80] DH - 4800 SQFT



GROUND FLOOR PLAN VILLA 60 X 80



FIRST FLOOR PLAN VILLA 60 X 80



TERRACE FLOOR PLAN VILLA 60 X 80

GROUND FLOOR - 2330.00 SQFT

FIRST FLOOR - 1815.00 SQFT

TERRACE FLOOR - 135.00 SQFT

TOTAL AREA - 4280.00 SQFT

TOTAL BUILT UP AREA - 4280 SQFT

PLOT AREA (60 X 80) - 4800 SQFT